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Answer five questions only
Calculators may be used. Graph Papers and StatisticalTables will be provided.

Time: 03 Hours

01. a) Define the terms mean, median and mode.

b) Leave taken by the schoolteachers at a school are shown below. Calculate the
. arithmetic mean, median and standard deviation for the data.

Leave (Numbers of
days)

Frequency

06 -  l 0 4

l l  -  15 6

t6  -20 l 0

2 l  -25 8

26 -30 7

3t  -35 5

02. In the following table weights of 40 male students are recorded in Kilograms.

i) Construct a stem - and -leaf display
ii) Construct a frequency distribution table
iii) Construct a histogram
iv) Find the median and Inter quartile range.
v) Briefly explain the distribution of the weights of these 40 male

students.

a) Draw a box & whiskers plot for the following data.03 .

40 45 40 36 50 49 46 58
38 41 45 A 1 49 47 43 46
49 62 42 57 46 53 49 48
48 58 50 63 48 54 57 57
57 a -

) l 55 44 45 59 49 53

52 54 57 57
58 58 59 59
6 l 6 l 62 62
63 63 63 64
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b) A box contains 8 red, 3 white, 3 yellow and 9 blue balls. If 4 balls are drawn at

random determine the probability that

i) all 4 balls are red.

ii) 2 red and 2 white balls.

iii) at least one ball is white.

iv) one ball of each colour is drawn.

04. a) Five percent of all televisions manufactured by a large electronic company are

defective. A quality control inspector randomly selects three televisions from

the production line.

i) What is the probability that exactly one of these three televisions is

defective?

ii) What is the probability that none of these three televisions is defective?

iii) What is the probability that at least one of these three televisions is

defective?

b) An airline service company receives an average of 8 complaints per da1. 
v

Using Poisson formula,

i) Find the probability that on a certain day this airline sen'ice company

will receive exactly seven complaints'

ii) Find the probability that on a certain day this airline sen ice company

will receive at least 3 comPlaints

05. a) Briefly explain the main characteristics of a normal distribution uith the help

ofa graph.

b) The life span of a computer manufactured by a compan)' has a normal

distribution with mean of 54 months and standard deviation of 8 months. The

company gives guarantee period of 36 months'

i) What percentage of the computers sold by this companf is espected to 
v

be replaced?

ii) What would be the guarantee period if the company would like to

replace only 3 percentages of the computers sold?

06. A research firm collected the following information on Family income and the

Monthlv expenditure for the food.

Family income
(Rs) 3000 3200 3500 3800 4500 4800 5200 6200

Food
Expenditure

(Rs)
2500 2800 2600 3000 3900 4100 4500 5000



i) Construct a scatter diagram for these data. Does the scatter diagram exhibit
a linear relationship between family income and expenditure for the food?

ii) Find the regression line with expenditure for the food as dependent
variable and family income as independent variable.

iii) Predict the expenditure for the food when the family income is Rs.
6000.00.

7. Briefly explain the following statisticalterms

a) Quartiles (Ql and Q2)

b) Coefficient of variation

c) Population

d) Cluster Sampling

e) Measure of Spread

l) Geometric mean

* * * * *


